Q Amir is working out 37 X Y
Year H

He uses place value counters to help him.

Multiplication and Division @ 0000000000
- 0000000000
0000000000

@ G=orgic and Dan each have some counters. OCO00000000

0000000000 00000 Work out 37 X Y
0000000000 00000

Q000000000 900000 Sl:c;w all your working.

[ Georgia’s Counters ] [Dan’s Counters ]

Write down a multiplication to work out how

many counters Georgia has. or 10 X 3 = 30 | mark
9 Vs Y e Y —
3 X o | =1 30
| mark
Write down a multiplication o work out how 43 43 /|;3
many counters Dan has. or5X3=15 Pens Pens Pens
How many pens in total?
3 X S | = 15
How many counters do they have altogether? I mark
H5 counters S0 pens

| mark




o Work out the following multiplications. o Complete the missing numbers.

36 X 8 = o 4 2
Lol
X | I
Lo b b o 8
25 X7 = | I L |
2 marks |
2 marks
G A small bag of sweets contains IO sweets.
A large bag of sweets contains 7 times as
e Tina has £2,000 many as the small bag.
She buys 6 new paintings. Max buys 8 bags of each.
Each painting costs £259 How many sweets does he buy in total?
How much money does she have left?
£ 2 marks
O vorkoutsx 77 x2=
sweets S
Show or explain your method. marks
Circle how confident you feel with multiplication.
| 2 3 Y )
2 marks Not Very

confident confident



